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9. y=3x-2
11. y=-4x-1
13, 2r+y=0

15. y=3x-9
17. y=2(x-3)

il | 1H.y=—%x+2

I: 1 Q£+l=2
! I' !

Slyry2

| 4 tql' 23. Y4
i1 (0, 2)

Find anequation for each of the following lines.

Graph each equation using the slope and y-intercept.

10. y=0.5+4
12, y+3= %:.r:

14. x+2y-6=0

l , Graph using a method of your choice. Find the
i | intercepts and slope for each line. The domain is R.

16. Sx+y+5=0

18. y+4=1:

A0\
Efgy—rfi_:(ﬂl)' X ~ l
22, 3x-4y=—24 \:51-_
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g | i 3 x+2yﬂ=8 4, Zx+j’;—4={] — 2
| 5. 2x-5y=10 6. Sx-4y+20=0 (0, -3)

il ) | 7. x-y-3=0 8. x—3y+6=0
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17. y=2(x-3)

2

equation for each of the ﬁﬂawifg lines.
ol S OPQ.,

4, ZI+_}’H—4=0
6. 5x-4y+20=0
8. x-3y+6=0

Graph each equation using the slope and y-intercept.

9. y=3x-2 10. y=05x+4
. y=—4x-1 12. y+3= %:r:
it 13. Z.x'j-y";-ﬂ 14. x+2y-6=0
il |l Graph using a method of your choice. Find the
il | intercepts and slope for each line. The domain is R.
il 15. y=3x-9 16. Sx+y+5=0

18. y+4=%:
20. y+2=-(x+1)

22. 3x—-4y=-24
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15. y=3x-9
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(O, 2)

Graph each eqwation using the slope and y-intercept.

21
EM‘%U# ch of the following lines.
23.

(3, 0)

8. x-3y+6=0
25.

9. y=3x-2 10. y=0.5x+4
1. y= —4.1:-1 12, y+3= %:.r:
| — | 13, 2x+y=0  x+2y-6=0
B Graph using a method of Jraz;!r ice. Find the
intercepts and slope for each line. 'Fhe domain is R.
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16. Sxdy+5=0 26. i
18. y+4=cx
(0, 1)
20. y+2=-(\+ 1) = =
0 x
22. 3x-4y=-24 -
0, 4)
- / 4, 0) =0 *

W F\analytic Geometry

pB 2012-05-29 page. 43

W

Bl T M) 1149 am



Methods of Graphing

-> Table of Values

-> Point Slope

-> y=mx+b

-> Find the x-intercept and y-intercept

Types of Equations

-> Point-Slope (point (1,2) -- (y-2)=m(x-1)
-> Slope y-Intercept (y=mx+Db)
-> Standard (ax+by+c=0)
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